Qj
Rise of Rome Crossword Puzzle

Across

1. This ocean is found west of the country of Gaul.

4. This continent is found south of the Mediterranean Sea.

8. This river in Africa starts in the south and flows north to empty into the Mediterranean Sea.

10. The Roman Empire controlled only half of this large island of f the west coast of Europe (2 words)
13. Which of these controlled the most land; the Roman REPUBLIC or the EMPIRE?

15, This body 6f water was surrounded by the Roman Empire (2 words)

16. This narrow channel separates Spain from Africa (3 words)

Down

This chain of mountains runs along the Italian peninsula.
This famous Greek city-state is shown on the map.
South of the island of Sardinia was this city-state, which was destroyed by Rome.
These mountains lie between Italy and Gaul.
This city is the centre of the Roman Empire.
This body of water lies between Italy and Greece.
This peninsula lies south of the Black Sea (2 words).
This large island is found south of Greece.
. Most of the Roman Empire lies on this continent.
. The Danube Rive flows into this body of water (2 words)
This river was near the northern border of the Roman Empire.
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